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(B) (W|(D)/(C)
(A) (B) C_ (D)

1980 722,801 26,797 30,215 4,399 3.7 14.6
1981 720,262 31,549 38,281 5,427 4.4 14.2
1982 711,883 35,922 44,729 6,330 5.0 14.2
1983 740,038 39,534 50,021 7,153 5.3 14.3
1984 740,247 43,012 54,287 7,769 5.8 14.3
1985 752,283 48,111 62,463 9,261 6.4 14.8
1986 750,620 51,847 67,637 10,443 6.9 15.4
1987 751,172 59,008 82,509 14,343 7.9 17.4
1988 793,014 36,468 96,380 15,629 4.6 16.2
1989 788,594 41,655 117,686 23,930 S 20.3
1990 820,305 48,287 141,058 29,527 5.9 20.9
1991 829,797 56,554 178,417 39,651 6.8 22.2
1992 856,643 54,449 188,201 34,099 6.4 18.1
1993 878,532 52,877 167,545 27,768 6.0 16.6
1994 875,933 45,335 145,454 21,058 5.2 14.5
1995 922,139 50,729 152,998 21,730 5.5 14.2
1996 896,211 48,476 140,774 19,376 5.4 13.8
1997 913,402 48,605] 138,635 19,339 5.3 13.9
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fortran90

http://www3. plala. or .jp/hkyoji/index. htm

! OLG single sector
! FORTRAN 90 PROGRAM BYKHASHIMOTO 2000.7.13
INTEGER, PARAMETER:: It=200,gt=3 ! It=lasttime gt=generation size
DOUBLEPRECISION, PARAMETER:: n=0.001 I n=JIKO SEITYO
DOUBLEPRECISION, PARAMETER:: SEIDO=0.000001 ! SHUSOKU SEIDO
DOUBLEPRECISION, PARAMETER:: govi= 10.83415!
INTEGER,I,J,AGE, printout
DOUBLEPRECISION total, bk, ak w,r,GOSA, vat, vstgova, gosa2, iz
DOUBLEPRECISION totaln(0:200)
DOUBLEPRECISION jinko,saving,isanacK Sygov
DOUBLEPRECISION C,U
COMMON /MACRODAT/ jinko(1:200,1:3),saving(1200,0:3),isan(0200),AC(0:200),KS(0:
200),Y(0:200),gov(0:200)
COMMON/KAKEI/¢(1:200,13),u(1:200)
'INITIALDATASET
PRITOUT=0
vat=0.02492544
vst=0.000000001
tz=0.2
jinko(1, 1)
jinko(2, 1)
jinko(3, 1)=0.1
DOI=1,gt
DOJ=2,gt
jinko(l, J) = jinko(l, 1)
ENDDO
ENDDO
DOt=3,It-3

=0.1
=0.1
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jinko(t+1,1)=jinko(t 1) * (1+n)
DO J=2,gt
jinko(t+1,J)=jinko(t+1,1)
ENDDO
ENDDO
DOt=0,It-3
total=0
AGE=3
DOI=1,3
total=total+jinko(t+1,AGE)
AGE=AGE-1
ENDDO
totaln(t)=total
ENDDO
! MAIN
10 FORMAT(I4,f10.6,F10.5,f.2.6)
20 FORMAT(f10.10,F12.5)
77  t=0
DOWHILE(.TRUE.)
saving(1,1)=0
SAVING(1,2) = 80
SAVING(2,1) = 56.3704
isan(0)=13
saving(t+2,1)=saving(t+2,1)+isan(t)* (1-t2)
CALL merrill(w r, t,vat, tz)

I stop
AK = KS(t)/totaln(t)
gova=gov(t)/totaln(T)
GOSA=(bK-ak)**2
I WRITE(*,*) VAT,GOVA,ISAN(T)
IF (GOSALTSEIDO) EXIT
bk=KS(t)/totaln(t)
t=t+1
ENDDO
write (*,*) vatGOSA
gosa2= (gova-govi) * 2
if (gosa2.1t.0.000001) then
WRITE(*,*) PRINTOUT, VAT
GOTO 55
end if
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55
30

if (govagtgovi) then
vat=vat-vst
vst=vst/f2
vat=vat+vst
goto 77
end if
vat=vat+vst
goto 77
t=0
FORMAT(14,80.6,F10.5,F12.6,F12.6)
OPEN(UNIT=1,I0STAT=0S,FILE="CASE1.DAT', STATUS="NEW)
DOWHILE(.TRUE.)
saving(1,1)=0
SAVING(1,2) = 80
SAVING(2,1) = 56.3704
isan(0)=13
saving(t+2,1)=saving(t+2,1)+isan(t)* (1-t2)
CALL merrill(w r, t,vat, tz)

stop

AK = KS(t)/totaln(t)
gova=gov(t)/totaln(T)
GOSA=(bK-ak)**2
WRITE(*,30) t, AC(T)/TOTALN(T),KST)/totaln(t),govtjtotalr(f),ISAN(T)
WRITE(1,30) t, AC(T)/TOTALN(T),KST)/totaln(t),goutjtotalr(d),ISAN(T)
IF (GOSALTSEIDO) EXIT
bk=KS(t)/totaln(t)
t=t+1
ENDDO
STOP
END

SUBROUTINE EXD(NEW, E,MAX, MAXJ,BUNBO,t w,r,p, Vat, z)

DOUBLE PRECISION, PARAMETER :: DELTA=0.1,GANMA=0.5 !
DOUBLEPRECISION, PARAMETER::PHI=1, ALFA=.5 !

DOUBLE PRECISON, PARAMETER :: BETA=0.3 !

INTEGER, PARAMETER:: 1t=200,gt= 3

DOUBLEPRECISION NEW(0:2) E (L 2)

DOUBLE PRECISION CST,w,r,L QK QK D,L D,D RD Wcl,BUNBO,MAX, kk ucyatUKTY
DOUBLEPRECISION tz!

INTEGERI,J,AGE, MAXJ, t
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DOUBLEPRECISION LS(0:200),lbar(1:200,13),ti(0:200)
DOUBLEPRECISION invest(1:200,13) ,wage(1:200,13),p(0:200)
DOUBLEPRECISION zeishu(0:200),VATREV(0:200)
DATA ((Ibar(l,J),Jd=1,gt),I=1,gt) /200,200,0,200,200,0,200,200,0/
DOUBLEPRECISION jinko, saving,isan,AC, KS,Y, gov
DOUBLEPRECISION C,U
COMMON /MACRODAT/ jinko(1200,1:3),saving(1:200,0:3),isan(0: 200),ac(0:200),KS( C: 2
00),Y(0:200),gov(0:200)
COMMON/KAKEI/c(1:200,13),u(1:200)
DOI=4,lt
DOJ=1,gt
Ibar(1,J)=Ibar(3,J)
ENDDO
ENDDO
! intial value-
C(1, 1) = 30.36423
C(1, 2) = 70.8525
C(2, 1) = 40.36423
ty=0.1

r=NEW(1)/BUNBO

w=NEW(2)/BUNBO

kk=0

r=r/w

w=1

IF (RLE.O) then !
maxj=1 !
return !

end if

LQ=0

KQ=0

KD=0

LD=0

DR=0

DW=0

DW=(1-ALFA*W

DR=alfa*R

LQ=((DR/IDW)** (1-ALFA))/PHI

KQ=((DW/DR)** ALFA)/PHI

P(t)=W+LQ+R*KQ
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D0J=t,200
PJ)= P(t)
ENDDO
AGE=gt
DOIl=1,gt
DOAGE=1,gt
WAGE(t+I AGE¥ W* | bart+ | AGE)
ENDDO
ENDDO
AGE=3
DO 100 1=1,3
Csr=1
cl=1
UK=0
ucC=0
kk=0
ub=-1D+22
777 callifétl,cl,age,r,c,invest wage,p,ganmadeltaTYyat)
kk=SAVING(T+I,3) (1-t2)
ISAN(T+1)=saving(t+1,3)*jinko(t+1,3)
IF (kkLE.O) THEN
cl=cl-CsT
CST=CST/10
cl=cl+CST
GOTO 777
END IF
uc=0
DO J=1,3
uc=uc+(1+DELTA)* *(-0-1)) * C(t+1,J) *(1- 1/GANMA) /(1-1/GANMA)
ENDDO
UK=((1+DELTA)* *(-2))*KK**( 1-1/GANMA) /(1-1/GANMA)
u(t+1)=(1-BETA)* UC+beta* UK
u(t+1)=uc
IF (CSTL T.0.0000000001) GOTO 800
IF (u(T+1).LT.ub) THEN
cl=cl-CsT
CST=CST/10
cl=cl+CST
GOTO 777
END IF
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IF (CSTL T.0.0000000001) GOTO 800
ub=u(T + I)
cl=cl1+CST
GOTO 777
800 AGE=AGE-1
100 CONTINUE
AGE=gt
AC(tF O
ti(h=0
L $t=0
KS(t)=0
VATREV(t)=0
DOI=1,3
VATREV(t)=VATREV(t)+vat*P(t)* C(t+1 AGE) jinkot+ I, AGE)
AC(t)=AC(t)+C(t+1,AGE)*jinko(t+iage)
tigrtityinvest{+ | AGE?jinkof+iage)
LS(t)=LS(t)+Ibar(t+1,AGE)*jinko(t+iage)
KS(t)=KS(t)+ SAVING(t+| AGE-1)*jinko(t+i ,age)
AGE=AGE-1
ENDDO
--------------- tax revenue
zeishu(t)=ty* W* LS(t) + VATREV(t) +tZ* | SAN(t)
GOV(t)=zeshu(t)/p(t)
titF tigytz* 1 SANY
Y(t)= AGH+ t{/ ptH- GO\
LD=LQ*Y(t)
KD=KQ* Y(t)
E(1)=KD-KS(t)
E(2)=LD-LS(t)
MAX=-1000000
MAXJ=0
DO J=1,2
IF (E(J).GT.MAX) THEN
MAX=E(J)
MAXJ=J
END IF
ENDDO
RETURN
END
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SUBROUTINEIife(t,l ,c1,agel,r,c,invest, wage,p, GANMA DELTA,TYyat)
INTEGER,PARAMETER:: 1t=200,0t=3
DOUBLEPRECISION delta,ganma
DOUBLEPRECISION ¢(1200,1:3),invest(1200, 1: 3), WAGE(1:200,1: 3) P (0: 200)
DOUBLEPRECISION c1,r,Al,tyvat
INTEGERI,t,agel, AGE,t1
DOUBLEPRECISION jinko,saving,isanacK Sy
COMMON /MACRODAT/ jinko(1:200,1:3),saving(1200,0:3),isan(0200),AC(0:200),KS(0:
200),y(0:200),gov(0:200)
A1=0
t1=t
saving(t+i,0)=0
Al=((1+r)( 1+ DELTA))** GANMA
C(t+1 ,agel)=cl
SAVING(t+1,agel)=(1+r)*SAVING(t+1,agel-1 )+ (1-ty)* WAGE(t+] ,agel )-( 1+vat)*P(tL ) *C
(t+1,agel)
invest(t+1,agel)=SAVING(t+1,agel)-SAVING(t+1,agel-1)
DO AGE=agel,2
C(t+1,AGE+1)=A1* Ct + | AGE P11 )/P(t1+1))** GANMA
SAVING(t+1,AGE+1)=(1+r)* SAVING(t+|,AGE) + (1 -tyf WAGHt+ |AGE+1){ 1 +vat)*P(t
1+1)*C{+ 1 AGE+1)
invest(t+1,AGE+ 1)=SAVING(t+1,age+ 1)-SAVING(t+1 ,age)
ENDDO
RETURN
END
Lo MERRILL algolism
SUBROUTINEmerrill(w, r, t,vat,tz)
DOUBLE PRECISION,parameter:: big=10**13
DOUBLE PRECISION G(0:2,0: 2),E(1:2), NEW(0:2),K(1:2)
DOUBLE PRECISION p(0:200)
INTEGERCOUNT,NLABEL,!,J,LJ,S,L(0:2),WAtM,J1,IM1
DOUBLE PRECISON MAX,ST KG,w,r,vat{z
doi=0,2
L(i)=0
end do
LJ=0
S=0
ST=10
K(1)=5
K(2)=5
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CALL INITIAL(G,K,L,NEW)
CALL EXD(NEW, E,MAX,NLABEL,ST,t,W,r ,p,vat}z)
L(0)=0
LJ=0
COUNT=COUNT+1
KG=0
WA=0
SHU=0
SHU=G(0,0)+G(0,1)+G(0,2)
IF (SHU.EQ.1) THEN
WA=0
DO 60 1=0,2
IF(G(0,)) .EQ.0) THEN
WA=L(I1)+WA
IF (L(1).EQ.0) WA=WA+NLABEL
END IF
CONTINUE
END IF
IF(WA.EQ.3) THEN
write(*,*) e(1),e(2),st
CALL RSTART(K,ST,NEW)
CALL INITIAL(G, K, L,NEW)
CALL EXD(NEW,E,MAXNLABELSTfwrpvattz)
L(0)=0
LJ=0
KG=0
IF (ST GT.big) then
! write(*,*) e(1),e(2),st
GOTO 400
end if
END IF
J=0
J1=0
JM1=0
DOM=0,2
IF (NLABEL.EQ.L (M)) THEN
J=M
L(LJ)=NLABEL
J1=J+1
JM1=J-1
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209

400

30

IF (JEQ.0) IM1=2
IF (JEQ.2) 1=0
DO 1=0,2
NEW)= GI,J1)+G(I,M1)- G1,J)
G(1,9)=NEW(I)
END DO
IF (NEW(0).EQ.0) CALL EXD(NEW,E, MAX,NLABEL, ST,t,w,r,p,vatfz)
IF (NEW(0).EQ.1) THEN

DOI=1,2
KG=K)-GlJ
IF (KG.GT.0) GOTO 209
END DO
NLABEL=|
END IF
LI=M
L(J)E0
GOTO 55
END IF
ENDDO
RETURN
END

SUBROUTINERSTART(K, ST,NEW)
DOUBLE PRECISION K(12),ST,NEW(0: 2)
INTEGERI
ST=ST*3
DO 30 1=1,2
K(1)=NEW(l ¥ 3
CONTINUE
RETURN
END
SUBROUTINEINITIAL(G, K, L,NEW)
DOUBLEPRECISION G(0:2,0: 2), NEW(0:2),K(1:2),KG
INTEGERL(0:2),1,J
G(0,0)=0
G(1,0)=K(1)
G(2,0)=K(2)
G(0,1)=1
G(0,2)=1
DO 50 I=1,2
DO 51 J=1,2
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51
50

100
105
110

200

G(1,9)=G(1,0)
IF (J.EQ.1) G(1,9)=G(l,0}1
CONTINUE
CONTINUE
DO 110 1=1,2
DO 100 J=1,2
KG=K()- q1,J)
IF (KG.GT.0) GOTO 105
CONTINUE
L()=I
CONTINUE
DO 200 1=1,2
NEW(1)=G(l,0)
CONTINUE
RETURN
END
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